Please help me to solve this problem:
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HW#13 Sec 12.2,12.4

Exercises  n7 11

The rate of healing A®) (in soare centimeters per day) for a certain type of abrasive skin wound
s given approximately by the following table.

A |08 |08 [075 |068 [063 [058 053 [047 |043 |04 [037

Approximate the area under the graph of A®) from £=0 to =5 using left and right sums over
five equal subintervals. Use your answers to fill in the following two blaniks with your values for
Ls and R, as appropriate:
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Exercise Score
0of5pts

Homework Score:
90% (45 0f 50 pts)
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